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MATH 150 - WEEK-IN-REVIEW 6

SANA KAZEMI

SECTIONS 5.1, 5.2 AND 5.3

1. Determine whether the function h(x) = |z + 3| + 2 where # > —3 has an inverse.
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2. Graphically and algebraically verify whether f(x) = 2v/z — 2 and g(x) = are inverse func-

tions.
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3. Verify whether f(z) = x—z and g(z) = x:— 5 are inverse of eachother.
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4. If f(x) is a one-to-one function with domain (—o0,2) U (2,00), range (—o0,00), f(1) = 5 and
f(—=2) = 8. Assume g(x) is inverse of this function. Evaluate its domain, range and ¢(5) — g(8).
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5. Simplify each of the following:

(a) logg(0.25) — oq( o) : . p ok
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(b) 11leu® L9 = 5 2 =%
(c) log(107™") = -H
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(f) In()

W(t) - lhe = o-| ;:\X

log(13)
(g) 10 - 3
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6. Express the following equations in exponential form.

Wlos() =1

(b) logz(3y) =2 > 3:1 = 7

(c) log(3) =2t <= 3 =10

(d) In(x — 1) = —1 -

7. Express the following equations in logarithmic form.

(a) 7° =343 log 23 3
= leq? = lqaz) =, 3 =g 343
{7 - gue) = 3-ly?
b 0.5z _
(b) e ! <‘;> 0e DX = \V\‘L
(c) 1074 = 0.1 <=> ~arx = Al D
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8. Find domain of the following.

(a) logs(8 — 2)

B-2X >0

(b) In(x \—[372)
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9. Determine the properties of the function g(x) = —2e*~® + 3 and use the properties to graph the
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Vertical Asymptote(s):

\

@ rgk 5

(2) vod

ﬁt)ﬂ*&s”"‘“‘* Lon:

@ v

Copyright (©) 2023 TAMU Department of Mathematics



ATd TEXAS A&M UNIVERSITY . Math 150 - Fall 2024
“Mathematics WEEK-IN-REVIEW 6

10. Determine the following for the function g(x) = 37°™ + 1, then choose the graph that matches
the function.

Domain: ( - 00 / Q()) 10

Intercept(s): 34&{0@9’*’ (o \ 1)
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11. Determine the properties of the function f(z)

— log,(2x — 5) + 3 and use the properties to graph

the function.
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12. Determine the properties of the function g(z) = 2In(—x + 3) and use the properties to graph the
function.
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13. Use the laws of logarithms to expand each expression.
ab
(a) In <m> = b)) — ln (c{(f)
Y ) L
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(b) logs (m) = 5%3; \E\o%t -4 \oé\\%zﬂ)
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